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All questions of each Section (A, B & C) should be attempted together.

Alt questions carry equal marks.

Show your working clearly.
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I

Section A

(grs'sr)

Expl'ain the meaning and significance of the following :

(a) Business Entity Concept

(b) Going Concem Concept

(c) Money Measurement Concept.

ffidP€a * erd etr q-6ir fr1 qrcil q1&q

(q,) Emqrq qq d*-ffir

(E) qsdr yfdeart {m-s{r

(rr) gil qrr{ rifrafir

(sirsr)

The following is the Trial Balance of Hari as at 3lst December,2013 :

Dr. (Rs.)

Hari's Capital Account

Stock lst January, 2013 46,800

Sales

Retuns 8,600

(>

Cr. (Rs.)

76,690

3,89,600

Purchases 3,21,700

5,800
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19,600

4,700

9,300

24,000

156

14,800

20,000

4,440

Carriage Inwards

Rent and Taxes

Salaries

Sundry Debtors

Sundry Creditors

Bank Loan @ 14% p.a.

Bank Interest

Printing and Stationery expenses

Bank Balance

Discotmt eamed

Fumiture & Fittings

.Discount allowed

General Expenses

]nsr.rance

Postage and Teleglam expenses

Cash Balance

Traveling expenses

1,100

14,400

8,000

5,000

1,800

l r,450

1,300

,1',to

380

30,000

5,11,330 5,11,330

870

Dawings

P.T.O.



(4)

The following adjustements are to be made :

0) Provision for Bad and Doubtful Debts be created at 570 on debtors.

(ii) Depreciation on Furnirure and Fiuings @ l0% p.a. shall be wriften off.

(iiI

Day Book

(iv) Interest on Bank Loan shall be provided for the whole year.

(v) 1/4 Printing and Stationery to be carried forward next year.

(vr) Closing stock Rs. 78,600.

Prepare Trading, Profit and Loss, Balance Sheet.

3r frriqr, 2013 ifii et ar rera ffitlua qr :

tBz (s.) *tue fr.)
afr w f* tur 76,690

et+ r q;r+fr 2013 rh1 46,800

3,89,600

qrcRrd'
8,600

sffi{qf 3,21,700

+Rq E-l-q-Es 19.600

156

Personal purchases of Hari amounting to Rs. 600 had been recorded in the purchases

ffi

fla-trq St q.r 4,700

5,800
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9,300

24,000

r, t 00.

14,400

8,000

156

14,800

20.000

4,440

+d-{

feFqq iT<rR-d

frFeq ffif
to zq Ao/o eld qd E1 E{ t

*+ ql qrq

eqr{ nsr €Rr+fr qd

tm'ts

qgr 3rtdd t+.'qr

F'ffql 3lR fuftit

vg rfi-$a

emrq ed

sro q rn si
t6g tq

ZIEIT ATq

0005

frcT

1,800

I 1,450

1,300

2,330

380

870

30,0003{r{tur

5,11,330

P.T.O.
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2

FrqfufuH qqrdq{ *-ri t :

(,) eT{il}a aqr iftu aui + fdS qEngrr o,T qdc tr<tt qr sx frs+l f*-qr

qql

(i, v-{fd{ et{ fuffi cr {er{q rox yfr q{ fi1 <{ t qi Ert i ver wqr

(,,, 6fr oi qmqd sfril ooo r. qi ql etr si-qt o1 tfr-6 griln t fi$Td

lqiqr rrqr t I

(iv) ts't frq 'rS Es qt qre {rR qro d feq toqr qrq 
r

(,) v+ eqr{ stn *r+fr +1 orrrA q{ erq-{-d 6t r

(v;) eililc rdq' zs,ooo r.

qrqR, drr{ *i Erfr tqr sfh Etr{-c-r tqR efrfqs

Section B

lrous'e)

Ram mnsigned 1,000 units of Hari costing Rs. 25 each, invoiced at cost plus 20%. The consignor

paid freight Rs. 2,000 and insurance in transit Rs. 1,000. During transit, 50 units were lost.

Hari took delivery of 950 units and paid Rs. 1,900 for octroi duty. Hari sent an account

sales showing that 800 units had been sold @ Rs. 65 each. Expenses incuned by consignee

as selling were Rs. 850. The consigree is entitled to a commission of l0% on sales. An amount

ofRs. 750 was accepted by the insurance company. Prepare Corsignment Accoun! Consignee's

Account and Abnormal Loss Account in the books of the Ram.
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rm i zs {. dtrrT qrd t,ooo 1f{: Efr al arn i zox +qq 3{ri qtrd qt

frq+ q'ra q;l, qtfua 4i ; qtsfi i z,ooo T. qlcr ,flEr 3t{ 1,000 r. cfird61

A tm *i B' Gs r qtr+ct * drm so nfr) gq A r{ r rfr i eso 1i+d

61 ffi d eik r,soo {. tm + fqq r rft i ffi ql tqr q-q ffir fiil{Ft

wi s-fitd t*-qr to; aoo 1ft) 6s {. * qrq t t-q * t r Qffi i sso {.

ffi qr €-d t+.q r Rffi 61 ffi rR lo%ofrqn Ai m r+ t r nq *

urfr i zso t. *1 ntvr frcn 6q4 i t{r d*.R fo-qr r qtqq Aqr, Affi tsr

eitt erqrr{q Ert{ tqt tqR 6itqq

Or

(orsqr)

A and B doing business separately, as building contractors, undertake jointly to construct a

building for a newly started joint stock company for a contract price ofRs. 1,00,000 payable

as to Rs. 80,000 by instalments in cash and Rs. 20,000 in fully paid shares ofthe company.

A bank account is opened in joint names. A paying in Rs. 25,000 and B Rs. 15,000. They

arc to share profits and losses in the proportion of2l3 and l/3rd respectively. Their transactions

were as follows :

P.T.O.
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Rs.

30,000

Bought Materials 70,000

Materials supplied by A 5,000

Materials supplied by B 4 000

Architects fees paid by A 2,000

The contract was completed and the price duty received. The joint venture was closed

by A taking up all shares of the company at an agreed value of Rs. 16,000 and B

taking up the stock materials at an agreed valuation ofRs. 3,000. Show the necessary L,edger

Accounts.

e efu s y*( sq t err{r qffirq q.{ G't r B-dt {iTff 6c t 1,00,000 {.

61 liffi +trd q{ d gs o1 rr{ egffi €tfi ?Sq-fr d toe ,ff{ fnqfq 61 6q

A fuqr frrsfr fdq 80,000 F. t6g f6mJ fr f<s srfi eln zo,ooo 5. rffi *
{oI({ Sfit d t rigm crc t qdE d-*. tsr deprqr r e i sq{ 25,000 {.

*t e i 15,000 t,. qqr is-{q r sr+1 erql etR Erftd q Rrfr fr..rT{r.2/3 d{

u3 * erjqro q t I rr$ datt vq yq'R t :

156

Paid Wages
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F

qs{R-d d 30,000

qrc'n qi-fr '70,000

srqfr a gRr qqri 61 'r$ 5,000

srcfi s Erc ewr$ 61 ,ri 4,000

srri*?€ 61 qtq e i { 2,000

{k{ {t ot * ,ri sft mrd qsw( $q d Ti r {9ffi Esc o1 ti< o..t fqqt

rrrrr tAi?dtrfi'+ff'+fi s$rdTs 16,000F. qtttoq einsi€ffi

t d-ql qrc'i d serd Ts 3,000 {. d a d | 3mr*fi. fut & l-fitil

+1iqs t

on lst January, 2013 Ashok acquired a machinery on hire purchase system from Real Aids

Ltd. agreeing to pay four annual instalments for Rs. 6,000 each payable at the end of each

year. There is no down payment. Interest is charged @ 20%o per annum and is included in

the annual instalments.

Ashok provides depreciation on the machinery @ 10olo per annum according to written down

value method.

Show the machinery account and the account of Real Aids Ltd. in the books of Ashok. All

J

workings should form part of your answer'

P.T.O.
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r qr-{t,2013 sl q{il6 i t-e-e qqs frfr}c t ffnqr .*aE cund q{ q6 q{fl-r

3lftfd 6-{ tfr eft w s€-d fds tr qd o1 qqrFs cr 6,000 T. qrd en t*rsil

C tsr ti * leq s5q6 d 'rqr r iro.ro er<rqrfr st$ r-fi q1 I qre zoy" cfu

sd 61 E{ t ftqr S{ T6 qrq qrffi-*. f+-R I nrm f+qr rrqr r

oTqto dF€d qe frlq * eqvn r0%" sfr qd +? <r t awae *1 ar+en

q.wrt 
r

swt-fi + urd d q{ffi tET otR ts-d fl-qq tdfr)s *.r tu.r y-<frfa eltqqr --
H$ orffisfr 61 stci rt-r d qrrr * Fc d *Fsq r

(qqEr)

X Ltd' purchased a second hand machinery on l-7-201 l for Rs. 70,000 paid Rs. [,000

for its overhauling and Rs. 9,000 on its installation. Another machinery was purchased by the

Or

cornpany on I - I -2012 for Rs. 1,50.000. on l-7-2013, first machinery was sold at Rs. 45.000.

on the same date another machinery was p,rchased at Rs. 2,00,000. The company writes

off depreciation @ 15% p.a. on WDV basis. prepare Machinery account for 2lll. 2012

and 2013.
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x frfrts i t-z-zott d zo,ooo s. t q+' s{rfi qYnr sfr-d *{ tt,ooo t' ss+1

tt qrrq-a q'{ri q{ oqrt r e,000 s' 3t ri€qrfud qi-G qr d'lTq I qfi 3tR q{ffi

effi Et{r 1-r-2012 d t,so,ooo t. i lg{-fr 'r$ t t-z-zot: dI q6d qsi-{ +s,ooo t'

i n-q { 'ri r sel ffi g+ sfh qrfrq 2,00,000 t. fr e,.0-< afr t 6qft ,rt
qrsr qt rsx vft sd 61 < t {q"flq 41 q} qra i ere tfi t t zott, zotz

eft{ zorr A tds q{ffi AEI fun oitsq t

Section C

(Etug'rT)

Poonam Ltd., Mumbai started a branch in Delhi on 1 April, 1999 to which goods were sent

20Yo above cost. The branch makes both credit and cash sales. Branch expenses are met

from branch cash, balance money remitted to H.o. The branch does not maintain double entry

books of account and necessary accounts relating to branch are maintained in H.o.

Following further details are given for the year ended on 31st March,2000 :

Cost of goods sent to branch

Goods received by branch till 3lst March,2000 at invoice price

4

Credit sales for the year

Rs.

50,000

54,000

58,000

P.T.O.

P.T.O.
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Debtors as on 3 lst March, 2000

Bad debts

Cash remitred to H.O.

Cash in hand at branch on 3lst March. 2000

Cash remitted by H.O. to branch during the year

Closing stock at branch at invoice price

Expenses incurred at branch

20,800

200

43,

2,000

-) 000

12,000

000

Show the Branch Account in the books of Head office to determine the profit and loss of

the branch lor the year ended on 3lst March, 2000.

11c fukls, tqi, t t-4-lsss 6i REfr i qo vnoi eitq sl ffi ssi
EFriI xR 20% scr t-or qro Q-sr r ynsr BqR s*{ toS ++ }_fiR t ffi
+-rfr t | {nur + sd 61 XFd vnur * t*g t si qrfr t Sr vrs nRr

etr;r Erqt{q ei q-q <i qrfr t r flror +dfr chfu erd uri rfi e-{rfr t sil{

vrgt t vqFsrd srErs{*. fu yqn qlqfd-c 6Rr rd sril t r

3l crq,2000 si srnq ES sd A frS f{qftrf€T ds-S?t srh d ,ri t ,

6,000



( 13 ) 156

{nsr +1 tQ .rq qro q1 ar.ra

3r qr{, 2o0o GF *sfi qtTd q{ {nqT ERr srq qrd

sd it BqR fu*1

gr crd, 2ooo si tTqrFd

eT{ilcq Eq

qqn srqteq d tsg tfud

31-3-2ooo +1 srrcr * uq i teE

gs qd yqn qlqleq 6Rr {nqt qn qfra fug

frsfr 6trd q( yTrsT 6 qrs sifrq €fm'

Yrcll ERI t*q .rU qc

T

50,000

54,000

58,000

200

43,000

2,000

J 000

6,000

12,000

qqn q.rqidq 6l ETfr tt wui d€i ssRifr 6itqs ili+. :j qrd, 2s66 fr qqrc

Es sd + les {nqr * erq sii{ Erf{ or ftqi'+r d vS r

(3r[Er)

The dependent branch does not maintain any books of account to calculate profit. Discuss.

Also show the format of Branch account under debior system.

enBra vnor Errr 6r qRffi-{ *-{i d f$S €rA rfi q-{fi t, a+qq *1fuq r

srer 6 tT<rfr yqd + ei+ria vnor fu *r q.,f$-c n-ffitd +1frq r

P.T.O.

Or

20,800
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5 Ram, Shyam and Ghanshyam are partners sharing profits and losses in the ration

4 :2:3. on 1st January, 1999, they agreed to dissolved the partnership, when their Balance

Sheet was as follows :

Capital Accounts :

Ran 68,000 45,000

46,000 15,000

Ghanshyam 3,000 3,700

Ram's Loan 19,400

Crediton 31,000

Bills Payable 24,000

Reserve Fund 5,600

Profit and Loss Account

1,51,200

The assets realised as under :

(, lnvestrnents Rs. 25,400; Bills Receivable 5,000 and debtors'Rs. 30,200; Stock Rs. 1g,000;

Fumiture Rs, 3,700; Machinery Rs. 12,600; Buildings Rs. 76,400.

(i, All the liabilities were paid off.

(ilt) The cost of realisation was Rs. 2,600.

Rs.

Shyam

Rs. Assets

1,17,000

12,600

4,000

9,000

4,500

4 100

Bills receivable

Funitue

Stock

Debtors

InvesEnents

Cash at Bank

Buildings

1,51,200

(iv) Partners were finally paid off.

156

Liabilities

7,500
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Prepare :

(r) RealisationAccount

(rr) The Bank Account

(iir) Partners' Capital Account.

rrq, {qH Sr wrqrq qrrfr<R t eik +, 2 : 3 * e/T{qH t erfr 3fu EIFr{ t
ffiqR t 1 1 qr+fi, leee qi1 a EFfr<rfr H] tqsfud *..{t + fsq tqn d 'rq
qqrfi T{6'r gil{-q, sq F5R qI :

M (F.)

tS tot ,

68,000 45,000

{qFI 46,000 15 000

spqg 3,000 3,700

{TTI ?fi-I gqR 19,400

ffi 3 1,000

tq fc-d 24,000

fr.qd cis 5,600

7,500

1,51,200

P.T.O.

{ITI

qftiqttqt({.)

t-6 i tng

qrq fTd

qtFT

q{n-{t

q.-fi-dt

{zTm.

Ar<trd

fnn{r

1,17,000

12,600

4,000

9,000

4

4

100

s00

1,51,200

Erq str Eri{ tql

156

P.T.O.
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qfil*tqffi t gs e,sR eqfmd g{ :

(,) 25,400 F. ft4fi t s.000 {. qrcq fqf,} t sln :o,zoo r. ffi Q rs,ooo r.
i?f*' t 3,700 s. v-SE< t; 12,600 r. q{ffi + 76,400 {. ,I{fr t I

(iil {tfr +qffi€il *1 g+,-dr grkrn 6-r FqT qqr

f,O eqd q1 qr.n 2,600 d. oTr{

(iv) qFfrqt *1 eia-a: tsr ? Rqr qqr

tuR *1&q :

(, q{d tsr

(ii) +fi Aor

(,,, qrfl-<Tfr o.r tS tsr

r56 16 100


